Y4 - Autumn - Block 2 - Step 10 - Checking strategies Answers

Question  Answer

516 - 271 271 - 787
2,364 + 1,202 2,364 + 1,162

a)
73136 78136
-13171 or -14/6|5
4,6 5 3|71
b)
4|1 5 152
+/1/5/2 or +/4/1 /5
5/6|7 5/6|7
c)
1/1/0/5 1306
+/1/3/ 06 or +/1/1/0|5
2/4/111 24|11
1 1

2,160 + 2,403 = 4,563
2,403 + 2,160 = 4,563
4,563 - 2,160 = 2,403
4,563 - 2,403 = 2,160

No, he should check his calculation with a subtraction.
He has not lined up the digits correctly.

623 + 1,240 = 1,863 2,483 - 623 = 1,860
1,860 + 1,240 = 3,100 2,483 + 617 = 3,100
1,860 + 623 = 2,483 3,100 - 1,860 = 1,240
3,100 - 2,483 = 617 617 + 1,866 = 2,483
2,483 - 617 = 1,866 1,863 — 1,240 = 623




Y4 - Autumn - Block 2 - Step 10 - Checking strategies Answers (continued)

Question  Answer

a) 777

b) 1,822
7 c) 4252

d) 5275




